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Read the following instructions carefully before you begin to answer the questions.
This Booklet contains questions in English as well as in Hindi.

iz'uksa ds mÙkj nsus ls igys fuEufyf[kr vuqns'kksa dks è;ku ls i<+ ysaA
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6. Questions of  English Medium will be considered for evaluation

in case it differs in Hindi Medium.

7. Answers must be shown by completely blackening the

corresponding rectangles on Side-II of the Answer-Sheet

against the relevant question number by black/blue ball

pen only. Answers which are not shown by black/blue ball

pen will not be awarded any mark.

8. The Answer-Sheet must be handed over to the Invigilator

before you leave the Examination Hall.

9. Failure to comply with any of the above instructions will

render a candidate liable to such action/penalty as any be

deemed fit.

10. The manner in which the different questions are to be

answered has been explained in the OMR form which you

should read carefully before answering the questions.

11. Answer the questions as quickly and as carefully as you

can. Some questions may be difficult and others easy. Do

not spend too much time on any question.

12. No Rough Work is to be done on the Answer-Sheet. Space

for rough work has been provided at the back of the booklet.

1. This Booklet contains 100 questions in all comprising
the following three parts:
Reasoning
Mathematics
General Awareness
General Science

2. All questions are compulsory and carry one mark each.
3. Before you start to answer the questions you must check

up this Booklet and ensure that it contains all the pages
(1-10) and see that no page is missing or repeated. If you
find any defect in this Booklet, you must get it replaced
immediately.

4. For every wrong answer 0.33 marks will be deducted
from the correct answer.

5. You will be supplied the Answer-Sheet separately by
the Invigilator. You must complete the details of Ticket
Number, Roll Number and Test Form Number on Side-
I of the Answer-Sheet carefully before you actually start
answering the questions. You must also put your
signature on the Answer-Sheet at the prescribed place.
These instructions must be fully complied with, failing
 which your Answer-Sheet will not be evaluated and
you will be awarded ‘ZERO’ mark.
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Direction (1–3) : In each of the
following

questions, select the related
letter/word number from the given

alternatives.

funsZ'k (1-3): fn, x, fodYiksa esa ls lacaf/r
'kCn@v{kj@la[;k dks pqfu,A
1. CAR : RAC : : TYRE : ?

(A) RUBBER (B) ERTY

(C) ERYT (D) STEEL

2. 12 : 60 : : 28 : ?

(A) 160 (B) 150

(C) 145 (D) 140

3. 30 : 16 :: 24 : ?

(A) 14 (B) 13

(C) 20 (D) 25

Direction (4–5) : Find the odd word/
letter/number from the given
alternatives.

funsZ'k (4-5): fn, x, fodYiksa esa ls fo"ke
'kCn@v{kj@la[;k@la[;k ;qXe dks pqfu,A
4. (A) CUD (B) SIP

(C) SET (D) NTR

5. (A) 132 (B) 145

(C) 187 (D) 144

6. "DOMAIN" is written as
"563471"  and "TIRED" is
written as "27895" in a certain
code language. How will
"TENDER" be written in this

code language?

,d fof'k"V dksM Hkk"kk esa, "DOMAIN"

dks "563471" fy[kk tkrk gSA vkSj
"TIRED" dks "27895" fy[kk tkrk gSA
bl dksM Hkk"kk esa "TENDER" dks fdl
izdkj fy[kk tk,xk \
(A)267589        (B)291589

(C) 291598      (D)293598

7. If "+" means "Substraction", "×"

means "Divison", "  " means
"Addition" and "–" means
"Multiplication", then 108 × 12
+ 3 – 6 ÷ 4 = ?

;fn "+" dk vFkZ "?kVkuk" gS, "×" dk vFkZ
"Hkkx" gS, "÷" dk vFkZ "tksM+" gS vkSj "–"

dk vFkZ "xq.kk" gS, rks 108 × 12 + 3 – 6

÷ 4 = ?

(A) – 10 (B) – 1

(C) – 7 (D) – 5

8. Introducing a boy, a girl says,
"She is the son of sister of
brother of my mother." How
that boy is related to that girl?

,d yMds dk ifjp; djkrs gq, ,d yM+dh
dgrh gS] ̂ ^og esjh ek¡ ds HkkbZ dh cgu dk
csVk gSA** og yM+dk] ml yM+dh ls dSls
lacaf/r gS \
(A) Cousin/ekSlsjk HkkbZ

(B) Brother-in-law/cguksbZ

(C) Father-in-law/llqj

(D) Niece/Hkkath

Direction (9-10): Each question given
below consisted of a statement,
followed by two assumptions
numbered I and II. Consider the
statement and decide which of the
given assumptions is implicit.

funsZ'k (9-10): uhps fn, x, izR;sd iz'u esa
,d dFku rFkk mlosQ ckn nks iwoZèkkj.kk I rFkk
II fn;s x;s gSA dFkuksa ij fopkj djsa rFkk r;
djsa fd dkSu&lh iwoZèkkj.kk fufoZokn gSA
 (A) If only assumption I is implicit

;fn osQoy iwoZèkkj.kk I fufoZokn gSA

 (B) If only assumption II is implicit

;fn osQoy iwoZèkkj.kk II fufoZokn gSA

 (C) If either I or II is implicit

;fn ;k rks iwoZèkkj.kk I ;k II fufoZokn gSA

 (D) If neither I or II is implicit

;fn uk rks iwoZèkkj.kk I uk gh II fufoZokn gSA

9. Statement/ dFku:

If it is easy to become an
engineer, I don't want to be an
engineer.

;fn ,d bathfu;j cuuk vklku gS] rks
bathfu;j ugh cuuk pkgrk g¡wA

Assumptions/ iwoZèkkj.kk:
 I. An individual aspires to be

professional.

izR;sd O;fDr ,d O;olk;h gksus dh
bPNk j[krk gSA

II. One desires to achieve a
thing which is hard
earned.

,d ,sls dke djus dh bPNk gksrh gS
tks dfBukbZ ls feyrh gSA

10. Statement/ dFku:

The government has decided to
disinvest large chuck of its
equity in select public sector
undertaking for better fiscal
management.

ljdkj us csgrj jktdks"kh; izcaèku osQ fy,
pqfuank lkoZtfud {ks=k osQ miozQeksa esa viuh
bfDoVh dk cM+k fgLlk fofuos'k djus dk
fu.kZ; fy;k gSA

Assumptions/ iwoZèkkj.kk:
 I. The amount generated out of

the disinvestment process
may reduce substantially
the mounting fiscal deficits.

fofuos'k izfozQ;k ls mRiUu jkf'k esa
c<+rs jktdks"kh; ?kkVs esa dkiQh deh
vk ldrh gSA

II. There will be enough demand
in the market for the shares
of these undertaking.

bu miozQeksa osQ 'ks;jksa osQ fy, cktkj esa
i;kZIr ekax gksxhA

Direction (11-13) : Each of the
questions  below consists of a
question and two statements I and
II given below it. You have to
decide whether the data provided
in the statements are sufficient to
answer the questions. Read both
the statements and given answer.

funsZ'k (11-13) : uhps fn, x, izR;sd iz'u esa
,d iz'u vkSj mlds uhps nks dFku I vkSj II fn,
x, gSaA vkidks ;g r; djuk gS fd dFkuksa esa fn;s
x;s vkadM+s iz'u dk mÙkj nsus ds fy, i;kZIr gS ;k
ugha gSA nksuksa dFkuksa dks if<+, vkSj mÙkj nhft, &

(A) If the data in statement I
alone is sufficient to
answer the question, while
the data in statement II
alone is not sufficient to
answer the question.

;fn dsoy dFku I esa fn;s x;s vkadM+s
iz'u dk mÙkj nsus ds fy, i;kZIr gS]
tcfd dsoy dFku II esa fn;s x;s
vkadM+s iz'u dk mÙkj nsus ds fy,
i;kZIr ugha gSA

(B) If the data in statement II
alone is sufficient to
answer the question, while
the data in statement I
alone is not sufficient to
answer the question.

;fn dsoy dFku II esa fn;s x;s vkadM+s
iz'u dk mÙkj nsus ds fy, i;kZIr gS]
tcfd dsoy dFku I esa fn;s x;s vkadM+s
iz'u dk mÙkj nsus ds fy, i;kZIr ugha gSA

(C) If the data in both the
statements I and II
together are not sufficient
to answer the question.

;fn dFku I vkSj dFku II nksuksa dks
vkadM+s feykdj Hkh iz'u dk mÙkj nsus
ds fy, i;kZIr ugha gSA

(D) If the data in both the
statements I  and II
together are necessary to

answer the question.

;fn dFku I vkSj dFku II nksuksa dks
vkadM+s feydj iz'u dk mÙkj nsus ds
fy, vko';d gSA

11. On which day of the same
week is Subham's birthday?
(Monday being the first day of
the week)

leku lIrkg osQ dkSu ls fnu 'kqHke dk tUefnu
gS (lIrkg ds igys fnu lkseokj ls)



KD Campus

KD Campus

2

 I. Avinash correctly remembers
that Subham's birthday is on
a day after Tuesday, but
before Friday of the same

week./vfouk'k dks Bhd ls ;kn gS
fd 'kqHke dk tUefnu eaxyokj fnu
osQ fdlh ,d fnu ckn ysfdu mlh
lIrkg osQ 'kqozQokj ls igys iM+rk gSA

II. Amit correctly remembers
that Subham's birthday is on
a day after Monday, But before
Thursday of the same week.

vfer dks Bhd ls ;kn gS fd 'kqHke dk
tUefnu lkseokj osQ ckn fdlh ,d
fnu] ysfdu mlh lIrkg osQ xq:okj ls
igys iM+rk gSA

12. Point M is towards which
direction from point N?

fcUnq M, fcUnq N ls fdl fn'kk dh vksj gS\
 I. If a person walks 4 m

towards the North from
point M, he would reach
point O, which is 8 m away
from point N.

;fn ,d O;fDr fcUnq M ls 4 eh- mÙkj
pyrk gS] og fcUnq O ij igq¡pkrk gS
tks fcUnq N ls 8 eh- nwjh ij gSA

II. Point P is 2 m towards the
East of point M and 4 m
towards the West of point N.

fcUnq P fcUnq M ls 2 eh- iwoZ dh vksj
gS rFkk fcUnq N ls 4 eh- if'pe dh
vksj gSA

13. How is P related to Q?

P, Q ls dSls lacafèkr gS\
 I. Q is the mother of T. M is

the only sibling of T. H is the
daughter of M and P.

Q, T dh ekrk gSA M, T  dk vdsyk
lgksnj gSA H, M rFkk P dh iq=kh gSA

II. M is married to P. T is the
brother of M. Q is the brother
of T.

M, P ls fookfgr gSA T, M dk HkkbZ gSA
Q, T dk HkkbZ gSA

Direction (14-17) : In each question
below are given two or three
statements followed by two
conclusions numbered I and II. You
have to take the given statements to
be true even if they seem to be at
variance with commonly known facts.
Read the following statements and
then decide which of the given
conclusions logically follows from the
given statements, disregarding
commonly known facts.

funsZ'k (14–17) : fn;s x, izR;sd iz'u esa nks

;k rhu dFku ,oa nks fu"d"kZ I ,oa II fn;s x,
gSA vkidks bu dFkuksa dks lR; ekuuk gS] Hkys
gh oks loZKkr rF;ksa ls fHkUu izrhr gksrs gSA lHkh
dFkuksa dks i<+s rFkk r; djsa fd fn;k x;k fuEu
fu"d"kZ fn, x, dFkuksa dks rkfdZd :i ls
vuqlj.k djrk gSA

Give answer/ mÙkj nsa&
(A) if only conclusion I

follows./;fn dsoy fu"d"kZ I

vuqlj.k djrk gSA
(B) if only conclusion II

follows./;fn dsoy fu"d"kZ II

vuqlj.k djrk gSA
(C) if either conclusion I or II

follows./;fn ;k rks fu"d"kZ I ;k fu"d"kZ
II vuqlj.k djrk gSA

(D) if both conclusions I and II

follow./;fn nksuksa fu"d"kZ I rFkk II
vuqlj.k djrs gSaA

(14-15) :

Statements/ dFku :

Some cats are black.

dqN fcfYy;k¡ dkyh gSA
All blacks are dogs.

lHkh dkys dqÙks gSA
No dog is an animal.

dksbZ dqÙkk tkuoj ugha gSA

14. Conclusions/ fu"d"kZ :
I. No black is an animal.

dksbZ dkyk tkuoj ugha gSA
II. Some cats which are dogs

are not animals.

dqN fcfYy;k¡ tks dqÙks gS] tkuoj ugha
gSA

15. Conclusions/ fu"d"kZ :
I. Some blacks being animals

is a  possibility./dqN dkys ds
tkuoj gksus dh laHkkouk gSA

II. All dogs being cats is a

possibility./lHkh dqÙkksa ds fcYyh
gksus dh laHkkouk gSA

(16-17) :

Statements/ dFku :

Some roses are red.

dqN xqykc yky gSA
All flowers are red.

lHkh iqQy yky gSA
All reds are beautiful.

lHkh yky lqanj gSA

16. Conclusions/ fu"d"kZ :
I. All those roses which are

red are also beautiful.

og lHkh xqykc tks yky gS] lqanj Hkh
gSA

II. Some flowers are beautiful.

dqN iqQy lqanj gSA

17. Conclusions/ fu"d"kZ :
I. There is a possibility that

some roses are flowers.

;g laHkkouk gS fd dqN xqykc iqQy gSA
II. All flowers are roses.

lHkh iqQy xqykc gSA
Direction (18–20) : Study the
following information carefully and
answer the question given below.

funsZ'k (18–20) % uhps nh xbZ tkudkjh dk
è;kuiwoZd vè;;u djsa rFkk uhps fn, x,
iz'uksa ds mÙkj nsA

P,Q, R,S,T U, V and W lives on
different floor from 1 to 8 not in the
straight order. There are only two
floor between the floors on which  'P'
and 'R' live.  'R' lives on an odd
numbered floor. There are four floors
between the floors on which 'P' and
'W' live.'T' lives on the floor
immediately above the floor on
which 'U' lives. There  are only two
floors between the floor on which V
and S lives. 'V' lives on the floor
above the floor of 'S'. 'Q' does not live
on the floor immediately above or
below the floor on which 'R' lives.

P,Q, R,S,T U, V vkSj W, 1 ls 8 la[;k
Øe okyh vyx&vyx eaftyksa ij jgrs gS] ysfdu
lhèks Øe esa ughaA 'P' vkSj 'R' dh eaftyksa ds chp
dsoy nks gh eaftys gSA 'R' ,d fo"ke la[;kØe
okyh eafty ij jgrk gSA P vkSj W dh eaftyks ds
chp pkj eaftys gSA T, U dh eafty ds Bhd mQij
okyh eafty ij jgrk gSA V vkSj S dh eaftyksa ds
chp dsoy nks eaftys gSA V, S ds mQij dh eafty
esa jgrk gSA Q, R ds u Bhd mQij vkSj uk gh Bhd
uhps okyh eafty esa jgrk gSA
18. Who lives on the top floor of the

building ?

Hkou dh lcls mQij dh eafty ij dkSu
jgrk gS\
(A) P (B) R

(C) T (D) U

19. Who lives on the second floor ?

nwljh eafty ij dkSu jgrk gS\
(A) Q (B) R

(C) S (D) T

20. Choose the odd group out of the
following groups.

fuEufyf[kr lewgksa esa ls fo"ke lewg pqfu;sA
(A) UTP (B) RSP

(C) WVR (D) QWV
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21. The area of a square is 1024
sq. cm. What is the respective
ratio between the length and
the breadth of a  rectangle
whose length is twice the side
of the square and breadth is 16
cm less than the side of the

square ?/,d oxZ dk {ks=kiQy 1024

oxZ lseh- gSA ,d vk;r ds yackbZ rFkk
pkSM+kbZ ds chp vuqikr D;k gksxk] ftldh
yackbZ oxZ ds Hkqtk dh nksxquh gS rFkk pkSM+kbZ
oxZ ds Hkqtk ls 16 lseh- de gks\
(A) 5 : 18 (B) 16 : 7

(C) 14 : 5 (D) 4 : 1

22. By selling 15 marbles for a
rupee, a shopkeeper loses 20%.
In order to gain 20% in the
transaction, he should sell how
many marbles for a rupee ?

,d #i, esa 15 ekcZy cspus ij ,d
nqdkunkj dks 20» dh gkfu gksrh gSA ysu&nsu
esa 20» dk ykHk vftZr djus ds fy, ,d
#i, esa fdrus ekcZy dks cspuk pkfg, \
(A) 10 (B) 6

(C) 4 (D) 3

23. Sneha buys a fridge at 
15

16
 of its

original value and sells it for
10% more than its value, then
find the gain percent.

Lusgk ,d fizQtZ blds okLrfod ewY; ds

15

16
 Hkkx ij [kjhnrh gS rFkk bls blds ewY;

ls 10% vf/d ij csp nsrh gS] rks mldk
ykHk izfr'kr D;k gksxk \
(A) 15.55%    (B)11.67%

(C) 16.67%    (D)17.33%

24. If 90% of A = 30% of B and B = x
% of A, then find the value of x.

;fn  A dk 90% = B dk 30% rFkk B =

A  dk x %  gS] rks x dk eku Kkr djsaA
(A) 800 (B) 300

(C) 700 (D) 400

25. A man is sitting in a train
notices that he can count 21
telephone posts in one minute.
If they are apart from each
other is 50 m then at what
speed is the train travelling ?

,d jsyxkM+h esa cSBk ,d O;fDr ;g uksfVl
djrk gS fd og ,d feuV esa 21 VsyhiQksu
ds [kEcs dks fxu ldrk gSA ;fn os ,d nwljs
ls 50 ehVj dh nwjh ij gS] rks jsyxkM+h fdl
pky ls py jgh gS \

(A) 57 km/h/ fdeh-@?ka-

(B) 60 km/h/ fdeh-@?ka-

(C) 63 km/h/ fdeh-@?ka-

(D) 55 km/h / fdeh-@?ka-

26. Sumit invested a sum of ̀  15000
at 9 percent per annum simple
interest and ̀  12000 at 8 per cent
per annum compound interest
for a period of 2 years. What
amount of interest did Sumit

earn in 2 years?/lqfer ` 15,000

dh jkf'k 9 izfr'kr okf"kZd lk/kj.k C;kt
nj ij rFkk ̀  12,000 dh jkf'k 8 izfr'kr
okf"kZd pØo`f¼ C;kt nj ij 2 o"kks± ds
fy, fuos'k djrk gSA 2 o"kks± esa lqfer ds
}kjk vftZr dh xbZ jkf'k fdruh gS\

(A) ` 4096.60   (B)` 4696.80

(C) ` 4896.60   (D)` 4698.60

27. The simple interest accrued on
an amount of ` 27,500 at the
end of three years is
` 10,230. What would be the
compound interest accrued on
the same amount at the same
rate in the same period?

` 27,500 dh jkf'k ij rhu o"kks± ds var
esa izkIr lk/kj.k C;kt ̀  10,230 gSA mlh
jkf'k ij leku nj ls leku le; esa pØòf¼
C;kt fdruk izkIr gksxk \

(A) ` 11,550    (B)` 12,620

(C) ` 10,950    (D)` 11,900

28. In a class, the average score of
girls in an examination is 73 and
that of boys is 71. The average
score for the whole class is 71.8.
Find the percentage of the girls

in the class./,d d{kk esa] ,d ijh{kk
esa yM+fd;ksa dk vkSlr vad 73 rFkk yM+dks
dk 71 gSA iwjh d{kk dk vkSlr vad 71.8

gSA d{kk esa yM+fd;ksa dk izfr'kr D;k gS\

(A) 60% (B) 40%

(C) 1.8% (D) 18%

29. In the quadrilateral ABCD

shown below, DAB = DCX

= 120º. If ABC = 105º. What

is the value of ADC ?

fn;s x, prqHkqTkZ ABCD esa DAB =

DCX = 120º gSA ;fn ABC =

105º rks] ADC dk eku crk,¡ -

A B

CD

X

(A) 45º (B) 95º

(C) 60º (D) 75º

30. Find maximum value of sin660º
+ cos660º.

sin660º + cos660º dk vf/dre eku
fudkysA
(A) – 1 (B) 1

(C) + 2 (D) None /dksbZ ugha
31. The cost price for 8 books and

5 pen is ` 92. While the cost
price of 5 books and 8 pen is `
77. Find the cost price of 3
books and 2 pen.

8 fdrkc o 5 dye dk ykxr ewY; ̀  92

gSA tcfd 5 fdrkc o 8 dye dk ykxr
eqY;  ` 77 gSA  3 fdrkc o 2 dye dk
ykxr ewY; crkb;sA
(A) ` 30 (B) ` 35

(C) ` 40 (D) ` 38

32. Hindi teachers are female,
then find the number of male
teachers in both subject.

(Approx.)/;fn tho foKku ds 80%

vè;kid o fgUnh ds 40% vè;kid
efgyk,¡ gSa] rks bu nksuksa fo"k;ksa essa dqy
fdrus iq#"k vè;kid gS ? (yxHkx)

(A) 128 (B) 132

(C) 134 (D) 130

33. P and Q can finish a work in
10 days while Q and R can do it
in 18 days. P worked for 5 days,
then Q worked for 10 days and
the remaining work was
finished by R in 15 days. In how
many days could R alone have
finished the whole work ?

P rFkk Q ,d dk;Z dks 10 fnuksa esa iwjk dj
ldrs gaS tcfd Q rFkk R bls 18 fnuksa esa
iwjk dj ldrs gSaA P, 5 fnuksa rd dk;Z
djrk gS] rc Q,  10 fnuksa rd dk;Z djrk
gS rFkk 'ks"k dk;Z dks R, 15 fnuksa esa iwjk
djrk gSA R iwjs dk;Z dks vdsyk fdrus fnuksa
esa dj ldsxk\

(A) 30 days/ fnu (B)15 days/ fnu

(C) 45 days/ fnu (D)24 days/ fnu
34. If the percentage of Mathematics

teachers is increased by 50% and
percentage of Hindi teachers is
decreased by 25%, what will be
the total number of Mathematics
and Hindi teachers together ?

;fn xf.kr ds vè;kidksa dh la[;k esa 50%

dh òf¼  dj nh tk, rFkk fgUnh ds vè;kidksa
dh la[;k 25% de dj nh tk, rks xf.kr
o fgUnh esa dqy fdrus vè;kid gksaxasa ?
(A) 459 (B) 458

(C) 460 (D) 455
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35. What is the respective ratio of
the number of teachers who
teach mathematics and the
number of teachers who teach
Hindi ?

xf.kr o fgUnh i<+kus okys vè;kidksa dh
la[;kvksa dk vuqikr crk, &
(A) 8 : 13 (B) 13 : 8

(C) 17 : 13 (D) 13 : 17

36. If 

2
1

5a
a

 
  

 
, what is the

value of ./;fn 
2

1
5a

a

 
  

 
, rks

3

3

1
a

a
  dk eku crk;saA

(A) 58 (B) 53

(C) 52 (D) 56

37. A and B started a partnership
business investing some
amount in the ratio of 3 : 5. C
joined them after six months
with an amount equal to that
of B, then the profit at the end
of one year should be
distributed in what proportion
among A, B and C?

A rFkk B dqN jkf'k 3 : 5 ds vuqikr esa
,d lk>k O;kikj esa fuos'k djrs gSA 6 eghus
ckn B ds cjkcj jkf'k ds lkFk C muds
lkFk 'kkfey gksrk gS] rks ,d o"kZ ds var esa
A, B rFkk C ds chp ykHk dks fdl vuqikr
esa forfjr djuk pkfg,\
(A) 6 : 10 : 5 (B) 3 : 5 : 5

(C) 3 : 5 : 2 (D) 4 : 5 : 6

38. What is the total number of
teachers teaching English,
Chemistry & Physics ?

vaxzth] jlk;u foKku o HkkSfrd foKku ds
vè;kidksaa dh dqy la[;k crk;s &
(A) 1206 (B) 1224

(C) 1244 (D) 1228

39. If a = 294, b = 295 & c = 296;
then find the value of a2 + b2 +
c2 – ab – bc – ca ?

;fn a = 294, b = 295 rFkk c = 296

rks] a2 + b2 + c2 – ab – bc – ca dk
eku crk;sA
(A) 3 (B) – 3

(C) + 3 (D) 0

40. If  80% of a number is added to
80 gives the result as the
number itself, then find the
number ?

;fn fdlh la[;k ds 80% dks 80 ls tksM+k
tk,] rks ogh la[;k izkIr gksrh gS] rc og
la[;k Kkr djsaA
(A) 400 (B) 320

(C) 360 (D) 440
41. Centre-State relations in India depend

on-/Hkkjr esa dsUnz&jkT; lacaèk fuHkZj djrs gS&
1. On constitutional provisions/

laoSèkkfud izkoèkkuksa ij
2. On conventions and practices/

ijaijkvksa rFkk O;ogkjksa ij

3. On judicial interpretations/U;kf;d
O;k[;kvksa ij

4. On device configuration for

communication/ckrphr ds fy, ;a=k foU;kl ij

dwV%&

(A) 1 ,oa 2 (B) 1, 2 ,oa 3

(C) 2, 3 ,oa 4 (D) lHkh
42. Which of the following is not related

to the Election Commission?/fuEufyf[kr
esa fdldk lacaèk pquko vk;ksx ls ugha gS\
(A) Issuance of election notification/

pquko dh vfèklwpuk tkjh djuk
(B) Distribution of election symbols/

pquko fpUg dk caVokjk djuk
(C) Settlement of validity of election/

pquko dh oSèkrk dk fuiVkjk
(D) To conduct elections peacefully/

pquko 'kkafriw.kZ <ax ls lEiUu djuk
43. Who said, 'The Indian Constitution

has not been molded within the tight

framework of federalism'./fdlus dgk Fkk
^Hkkjrh; lafoèkku dks la?kkRedrk ds rax <+k¡ps esa ugha
<+kyk x;k gS*A

(A) K. M. Munshi/dsñ ,eñ eqa'kh

(B) A. K. Iyer/,ñ dsñ vÕ;j

(C) D. D. Basu/Mhñ Mhñ clq

(D) None of these/buesa ls dksbZ ugha
44. How many years is the Mayor period?/

es;j dk dk;Zdky fdrus o"kksZ dk gksrk gS\

(A) 1 year/1 o"kZ (B) 2 year/2 o"kZ

(C) 4 year/4 o"kZ (D) 5 year/5 o"kZ
45. During the tenure of which Governor

General was the Second Anglo-Mysore

War fought?/f}rh; vkaXy eSlwj ;q¼ fdl xouZj
tujy ds dk;Zdky ds nkSjku yM+k x;k\

(A) Warren Hastings/okjsu gsfLVaXl

(B) Cornwallis/dkuZokfyl

(C) Wellesley/osystyh

(D) Lord Minto-P/ykMZ feaVks&I

46. Where was the Muslim League

established?/eqfLye yhx dh LFkkiuk dgk¡ dh
xbZ Fkh\

(A) Dhaka/<kdk

(B) Karachi/djkph

(C) Amritsar/ve`rlj

(D) New Delhi/ubZ fnYyh
47. Who addressed the rebellion of 1857

as a national rebellion?/fdlus 1857 ds
foæksg dks jk"Vªh; foæksg dgdj lacksfèkr fd;k FkkA

(A) Savarkar/lkojdj

(B) T.R. Jhems/Vh-vkj->sEl

(C) Disraeli/fMtjk;yh

(D) None of these/buesa ls dksbZ ugha

48. Remains of which type of houses have
been found from Mehargarh of

Harappan civilization?/gM+Iik lH;rk ds
esgjx<+ ls fdl çdkj ds ?kjksa ds vo'ks"k çkIr gq, gS\

(A) Square and rectangular/oxkZdkj ,oa
vk;rkdkj

(B) Circular and triangular/o`Ùkkdkj ,oa
f=kdks.kh;

(C) Circular and square/o`Ùkkdkj ,oa oxkZdkj

(D) None of these/buesa ls dksbZ ugha
49. When did the Father of the Nation

Mahatma Gandhi organize a strike in
the entire country in protest against

the Rowlatt Act?/jk"Vªfirk egkRek xk¡èkh }kjk
jkWysV ,DV ds fojksèk esa dc iwjs ns'k esa gM+rky dk
vk;kstu fd;k Fkk\

(A) 18 March 1919/18 ekpZ 1919
(B) 6 April 1919/6 vçSy 1919

(C) 7 April 1919/7 vçSy 1919

(D) 8 April 1919/8 vçSy 1919
50. Who among the following was the

founder of 'Shuddvaitavad' school?/

^'kq¼k}Srokn* er ds laLFkkid fuEu esa ls dkSu Fks\

(A) Madhvacharya/ekèkokpk;Z

(B) Vallabhacharya/oYyHkkpk;Z

(C) Shankaracharya/'kadjkpk;Z

(D) Ramanujacharya/jkekuqtkpk;Z
51. In which century did Vajrayana

Branch of Buddhism emerge?/ckS¼ èkeZ
dh otz;ku 'kk[kk dk mn; fdl 'krkCnh esa Fkk\

(A) 5th – 6th century/5oha & 6Bh 'krkCnh

(B) 6th – 9th century/6oha & 9oha 'krkCnh

(C) 7th – 11th century/7oha & 7oha 'krkCnh

(D) 10th – 11th century/10oha&11oha 'krkCnh
52. Who was the propounder of the

concept of hot-spot?/gkWV&LikWV (Hotspot)

dh voèkkj.kk ds çfriknd dkSu Fks\

(A) Norman Meyers/ukeZu es;lZ

(B) Robert Rison/jkWcVZ fjlu

(C) Karl Borey/dkyZ cksjs

(D) None of these/buesa ls dksbZ ugha
53. Where is the headquarters of Ecology

Science Center located?/ikfjfLFkfrdh foKku
dsaæ dk eq[;ky; dgk¡ fLFkr gS\

(A) Dehradun/nsgjknwu

(B)  Bhopal/Hkksiky

(C) New Delhi/ubZ fnYyh

(D) Bangalore/caxyq:
54. In which year was Chilka Lake of

Odisha included in the list of Ramsar

site?/vksfM'kk dh fpYdk >hy dks fdl o"kZ jkelj
LFky dh lwph esa 'kkfey fd;k x;k Fkk\
(A) 1981 (B) 1982
(C) 1984 (D) 1989

55. Ecology is the study of the mutual
relationships between which of the

following?/ikfjfLFkfrdh fuEufyf[kr esa ls fdlds
chp ds ikjLifjd lacaèkksa dk vè;;u gS\

(A) Man and forest/euq"; ,oa ou

(B) Soil and water/e`nk ,oa ty

(C) Organism and environment/tho ,oa
 okrkoj.k

(D) All of these/buesa ls lHkh
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56. In which jail did Jawaharlal Nehru
write the book 'Discovery of India'?/

fdl tsy esa tokgj yky usg: us ^fMLdojh vkWiQ
bafM;k* iqLrd dh jpuk dh Fkh\

(A) Yerwada Jail/;jonk tsy

(B) Ahmednagar Jail/vgenuxj tsy

(C) Tihar Jail/frgkM+ tsy

(D) Alipore Central Jail/vyhiqj lsaVªy tsy
57. In whose scripts was Modi script used

for the first time?/eksMh fyfi dk ç;ksx igyh
ckj fdlds ys[kksa esa fd;k x;k Fkk\

(A) Marathas/ejkBksa ds

(B) Rajputs/jktiwrksa ds

(C) Bahamanis/cgefu;ksa ds

(D) None of these/buesa ls dksbZ ugha
58. The world's most active volcano is:/

fo'o dk lcls vfèkd lfØ; Tokykeq[kh gS%

(A) Etna/,Vuk (B) Stromboli/LVªkEcksyh

(C) Colima/dksfyek (D) Kilauea/fdyk;q
59. Which of the following continents is

called the 'Land of Golden fleece'?/

fuEufyf[kr esa ls fdl egk}hi dks ^n ySaM vkWiQ
xksYMsu Ýyhl* dgk tkrk gS\

(A) Asia/,f'k;k (B) Europe/;wjksi

(B) Africa/vÚhdk (D) Australia/vkWLVªsfy;k
60. On which part of the Earth is the

centrifugal force maximum?/i`Foh ds fdl
Hkkx ij vidsUæh; cy lokZfèkd gksrh gS\

(A) Equinox Line/fo"kqor js[kk

(C) Capricorn Line/edj js[kk

(B) Cancer Line /ddZ js[kk

(D) North Pole/mÙkjh èkzqo
61. The scientific View is that the

increase in global temperature should
not exceed 2 °C above pre-industrial
level. If the global temperature
increases beyond 3 °C above the pre-
industrial level, what can be its
possible impact/impacts on the

world?/oSKkkfud ǹf"Vdks.k ;g gS fd fo'o rkieku
iwoZ&vkS|ksfxd Lrj ls  2 °C ls vf/d ugha c<+uk
pkfg,A ;fn fo'o rkieku iwoZ&vkS|ksfxd Lrj ls 3
°C ds ijs c<+ tkrk gS] rks fo'o ij mldk lEHkkfor
vlj D;k gksxk\
1. Terrestrial biosphere tends toward

a net carbon source./LFkyh; thoeaMy
,d usV dkcZu lzksr dh vksj izo`Ùk gksxkA

2. Widespread coral mortality will

occur./foLr`r izoky eR;Zrk ?kfVr gksxhA
3. All the global wetlands will

permanently disappear./lHkh Hkwe.Myh;
vknzZHkwfe LFkk;h :i ls yqIr gks tk,¡xhA

4. Cultivation of cereals will not be
possible anywhere in the world./

vuktksa dh [ksrh fo'o eas dgha Hkh lEHko ugha
gksxhA

Select the correct answer using the

code given below./uhps fn, x, dwV dk iz;ksx
dj lgh mÙkj pqfu,A

(A) 1 only/dsoy 1

(B) 1 and 2 only/dsoy 1 vkSj 2

(C) 2, 3 and 4 only/dsoy 2] 3 vkSj 4
(D) 1, 2, 3 and 4 /1] 2] 3 vkSj 4

62. Zinc is used to protect iron from

corrosion because zinc is-/yksgs dks tax ls
cpkus ds fy, ftad dk mi;ksx fd;k tkrk gS D;ksafd
ftad gS&

(A) More electropositive than iron/yksgs
ls vf/d fo|qr /ukRed

(B) Cheaper than iron/yksgs ls lLrk

(C) A bluish white metal/,d uhyh liQsn
/krq

(D) A good conductor of heat and

electricity./xehZ vkSj fctyh dk ,d vPNk
laokgdA

63. Which one of following gases is placed
second in respect of abundance in the

Earth's atmosphere?/fuEufyf•r esa ls dkSu
lh xSl i`Foh ds ok;qeaMy esa çpqjrk dh n`f"V ls nwljs
LFkku ij gS\

(A) Oxygen/vkWDlhtu

(B) Nitrogen/ukbVªkstu

(C) Hydrogen/gkbMªkstu

(D) Carbon dioxide/dkcZu MkbvkWDlkbM
64. Which one of the following is a

chemical change?/fuEufyf•r esa ls dkSu lk
,d jklk;fud ifjorZu gS\

(A) Cutting of hair/cky dkVuk

(B) Graying of hair naturally/çkÑfrd :i
ls ckyksa dk liQsn gksuk

(C) Swelling of resin in water/ikuh es a
jky dh lwtu

(D) Cutting of fruit/iQy dkVuk
65. Which one among the following

chemicals is used as washing soda?/

fuEufyf•r esa ls fdl jlk;u dk mi;ksx okf'kax lksMk
ds :i esa fd;k tkrk gS\

(A) Calcium carbonate/dSfY'k;e dkckZsusV

(B) Calcium bicarbonate/dSfY'k;e ckbdkckZsusV

(C) Sodium carbonate/lksfM;e dkckZsusV

(D) Sodium bicarbonate/lksfM;e ckbdkckZsusV
66. In addition to fingerprint scanning,

which of the following can be used in
the biometric identification of a

person?/fdlh O;fDr ds thoferh; igpku gsrq]
vaxqyh&Nki Øeoh{k.k ds vykok] fuEufyf[kr esa ls
dkSu&lk@ls iz;ksx esa yk;k tk ldrk gS@yk, tk ldrs
gSa\

1. Iris scanning/ifjrkfjdk Øeoh{k.k

2. Retinal scanning/n`f"ViVy Øeoh{k.k

3. Voice recognition/okd~ vfHkKku
Select the correct answer using the

code given below./uhps fn, x, dwV dk iz;ksx
dj lgh mÙkj pqfu,A

(A) 1 only/dsoy 1

(B) 2 and 3 only/dsoy 2 vkSj 3

(C) 1 and 3 only/dsoy 1 vkSj 3

(D) 1, 2 and 3/1] 2 vkSj 3
67. Which of the following is/are the

example/examples of chemical

change?/fuEufyf[kr esa ls dkSu&lk@ ls jklk;fud
ifjorZu dk@ds mnkgj.k gS@gSa\
1. Crystallization of sodium chloride/

lksfM;e DyksjkbM dk fØLVy

2. Melting of ice/ciQZ dk xyu

3. Souring of milk/nqX/ vkLdanu
Select the correct answer using the

code given below./uhps fn, x, dwV dk iz;ksx
dj lgh mÙkj pqfu,A

(A) 1 and 2 only/dsoy 1 vkSj 2

(B) 3 only/dsoy 3

(C) 1, 2  and 3/1] 2 vkSj 3

(D) None/dksbZ ugha
68. If the resistance of a conductor

becomes 3 times and the potential
difference become same then, current
will be:-

;fn fdlh pkyd dk çfrjks/ 3 xquk gks tk, rFkk
foHkokUrj leku gks tk, rks /kjk gksxh%&

(A) 3 times/3 xquk

(B) half times/vk/k xquk

(C) One-third/,d frgkbZ

(D) Double/nksxquk

69. The molecular formula of Butane.

C;wVsu dk vk.kfod lw=k gS%&

(A) C
4
H

12
(B) C

4
H

10

(C) C
4
H

6
(D) C

4
H

4

70. Examples of Ms Word?/Examples of Ms
Word?/ MS Word mnkgj.k gS\

(A) Compiler/daikbyj

(B) Run time programme/ju Vkbe çksxzke

(C) Operating System/vkWijsfVax flLVe

(D) Application Software/, Iy hd s ' k u
lkWÝVos;j

71. What is the full name of POST?/POST

dk iwjk uke D;k gS\

(A) Program on Self Test (B)
Program on System Test

(C) Power on Self Test (D)

Power on System Test

72. When was Lokpal established in India

for the first time?/yksdiky dh LFkkiuk igyh
ckj dc dh xbZ Fkh\

(A) 1955 (B) 1959

(C) 1965 (D) 1968

73. Who founded the Communist Party of

India?/Hkkjrh; dE;qfuLV ikVhZ dh LFkkiuk fdlus
dh Fkh\

(A) N. Dutt Majumdar/ ,u- nÙk etwenkj

(B) M. N. Roy/,e- ,u- jkW;

(C) Soumyendranath Bose/ lkSE;sUæukFk cksl

(D) M.N.Ghosh/,e- ,u- ?kks"k

74. In which article of the Indian Constitution
is there a provision for the Election

Commission?/Hkkjrh; lafo/ku ds fdl vuqPNsn
esa pquko vk;ksx dk çko/ku gS\

(A) Article 324/vuqPNsn 324

(B) Article 328/vuqPNsn 328

(C) Article 322/vuqPNsn 322

(D) Article 325/vuqPNsn 325

75. Who appoints the governors of the

states?/jkT;ksa esa jkT;ikyksa dh fu;qfÙkQ dkSu djrk gS\

(A) Prime Minister/ç/kueU=kh

(B) Chief Minister of the State/jkT; ds eq[;eU=kh

(C) President/jk"Vªifr

(D) Chief Justice of India/Hkkjr ds eq[;
U;k;k/h'k


